50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

15CS64

i

Module-1 #
Explain the role of operatmg system from dlfferent chWpomts Explain the dual mode of
operation of an operatmg system (07 Marks)
Demonstrate the concept of virtual machine with an example (05 Marks)

(04 Marks)

Descnbe the implementation of mt&rprocess communication using shared memory and

L

message passing. { (06 Marks)
Demonstrate the operations of process creation and process termination 1n UNIX. (06 Marks)
Explain the different states of a process, with a neat chagram (04 Marks)
Point out and explam the various benefits o multl threaded programmlng (04 Marks)

Consider the five processes arrive at tit e 0, in the order given; with the length of the CPU
burst given in mllhseconds , ;

[ Process [ Burst ime |

P, lo./
P, | 29
P; A 3
Py £ 5 ¢ 7
Ps a 12

Consider the FCFS 'SIF and RR. (quahtum = 10ms) scheduling, draw the Gantt chart for
each of the: scheduhng Determine ‘average Waltmg time and turnaround time for all the

3 scheduling algorithm. Which algonthm would give the minimum average waiting time?
(12 Marks)

OR
What is the critical SCCUOD problem point out and explain its three requirements. (05 Marks)

What are semaphorcs explam how mutua] excluswn is implemented with semaphores.
(05 Marks)

What is Dlmmmg phllosopher problem explam 1ts monltor solution. (06 Marks)

!
P
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Module-3
a. Consider the following snapshot of a system : «

"

Available
A B C
1 0 2

.

»»»»»

,,,,,,,

above system is safe or - ot safe (08 Marks)
b.  What are the necessary conditions for deadlock’7 Explam different methods to recover from
deadlock. (08 Marks)
' . OR
a. Whati is pagmg" Explain paging hardw,are with translation. lpok-amde buffer. (06 Marks)
Explain the structure of page table with respect to hierarchical paging. (06 Marks)

c. Given the 5 memory partitions 100 KB, 500 KB, 200 KB, 300 KB and 600 KB, how each of
the first ﬁt best ﬁt and worst fit algorlthms place processes of 212 KB, 417 KB, 112KB and

(04 Marks)
a. [Illustrate how demand paging affects systems performance. (08 Marks)
b. Describe the steps in handling a page ult (08 Marks)
a. Explam the various types of directory structures (08 Marks)
b. Descnbe various file allocauon methods. (08 Marks)
fog 4 1RIT LIBRARY
i‘\dJk&L 56() U&ﬂ
: Module-5
a. Explain various\dls scheduling algonfhm with an example. (10 Marks)
b. Explain access matrix protection system of O.S. (06 Marks)
- : ‘m'in;;;g“ OR
a. Explain the various. Components of the Linux system. (08 Marks)
b. Explain the process management in Linux. (08 Marks)
fégx,j\m : * Kk % %
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